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1. (b) Elated is opposite to Despondent.

Similarly,Enlightened is  opposite to Ignorant.

2. (a) M   O   R   

 

Q    S   V   
+4 +4 +4

J    L   O   

 

N    P   S   
+4 +4 +4

Similarly

3. (d) 78 : 12  [(12 × 6) +
12

2
]

= 78

Similarly,

91 : 14 = [(14 × 6) + 
14

2
]=91

4. (c)

5. (b)

9 27 31 155 161 1127 1135   
×3 ×5 ×7+4 +6 +8

6. (d)

13,35,57,79,911,1113

+22 +22 +22 +22 +22

7. (c)

School

Class
Blackboard

8. (a) A D

B C



–

+–

+

D is the father.

9. (c)

10. (b)
Book

Shirts

Cups

Only (ii) Conclusion follows
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11. (b) Father

Mother–

+

X
+

'X' is the son of the person in the photograph.

12. (c)

13. (d)
R

P

Q

A

N

E

S

W
South – East  Direction.

14. (d) Let the number of Deer = x and the number of Peacocks = y

ATQ,

x + y = 80 ...(i)

4x + 2y = 200 ...(ii)

Multiplying 2 with equation (i) and subtracting it from equation (ii)
and we get-

x = 20 and y = 60

15. (a)

16. (c)

17. (d)

L  A T  T  E R 

U H W W D O 

M A N A G E 

H J D Q D P
+3+3 +3+3+3 +3

+3 +3 +3 +3 +3 +3

18. (a)

19. (d) 5 + 14 + 6 + 8

33

20. (b) 47 + 13 × 65 5 – 16

200

21. (a)

22. (c) (35, 25, 145)

 25 × 3 + 35 × 2

 75 + 70

 145

Similarly

(29, 37, 169)

 37 × 3 + 29 × 2

 111 + 58

 169
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23. (c) 96 C 3  96 3  32

Similarly, 408  6 68

24. (a) T  E  F  L  O   A  N  S

20   5    6  12  12   26  13   8

 opp opp opp opp

S
a
m

e

S
a
m

e

S
a
m

e

S
a
m

e

and

S E R G E A N T

19   5  18   7   22    26  13   7

 opp opp opp opp

S
a
m

e

S
a
m

e

S
a
m

e

S
a
m

e

Similarly,

U N I Q U E L Y

21   14  9   17  6    22   15  2

 opp opp opp opp

S
a
m

e

S
a
m

e

S
a
m

e

S
a
m

e

25. (d) L M N O
+1 +1 +1

; I J K L
+1 +1 +1

;A B C D
+1 +1 +1

;

B D E F
+2 +1 +1

(ODD)

B-GENERAL AWARENESS

26. (d) The Battle of Dashragya was fought on the banks of the Parushni River (modern Ravi River), in

which King Sudas of Bharata was victorious./n'kjkK ;q¼ i:".kh unh (vk/qfud jkoh unh) ds rV ij yM+k x;k] ftlesa
Hkjrksa ds jktk lqnkl dh fot; gqbZA

27. (c) The Satavahana ruler Gautamiputra Shatakarni is referred to as 'Eka Brahmin' in Nasik inscriptions,

which means 'unique Brahmin' or sole protector of Brahmins./lkrokgu 'kkld xkSrehiq=k 'kkrd.khZ dks ukfld vfHkys[k
esa ^,dk czkã.k* dgk x;k gSa] ftldk rkRi;Z gS ^vf}rh; czkã.k* vFkok czkã.kksa dk ,dek=k j{kdA

28. (b) Amir Khusro's full name was Abul Hasan Yaminuddin Khusro. Amir Khusrau was a great scholar

and poet of his time. He was the first writer to use Hindi words and idioms. The musical instruments

'tabla' and sitar were introduced in the 13th century by Amir Khusrow./vehj [kqljks dk iwjk uke vcqy glu
;kfeuqn~nhu [kqljks FkkA vehj [kqljks vius le; dk ,d egku fo}ku vkSj dfo FkkA og ,slk izFke ys[kd Fkk ftlus fganh 'kCnksa ,oa eqgkojksa
dk iz;ksx fd;kA laxhr ;a=kksa ^rcyk* rFkk flrkj dk izpyu 13oha 'krkCnh esa vehj [kqljksa us gh fd;k FkkA

29. (a)Prior to Dalhousie, public works were on a military board. During his tenure a separate public works

department was created for the first time and large sums of money were spent on works of public

utility./MygkSth ls iwoZ lkoZtfud fuekZ.k dk dk;Z ,d lSfud cksMZ ij FkkA blds dk;Zdky esa igyh ckj ,d vyx lkoZtfud fuekZ.k
foHkkx cuk;k x;k vkSj lkoZtfud mi;ksx ds dk;Z ds fy, cgqr lk /u O;; fd;k tkus yxkA

30. (b) B.G. Tilak started two important newspapers from Bombay named 'Kesari' and 'Maratha' in 1881 to serve the

Indian freedom struggle./ch-th- fryd us Hkkjrh; Lora=krk laxzke dh lsok ds mn~ns'; ls 1881 bZ- esa cacbZ ls ̂ dsljh* vkSj ̂ ejkBk*
uked nks egRoiw.kZ lekpkj i=k izkjaHk fd, FksA

31. (d)

32. (c) 1º is 4 minutes Thus 60 minutes in 15º or will be equal to 1 hour./1º esa 4 feuV gksrk gS

bl i zd k j 15º e s a  60 feuV ; k f u
1 ?k.Vs ds cjkcj gksxkA

33. (c) The Caspian Sea is the largest lake in Asia and the world. This lake is surrounded by the countries of

Kazakhstan, Russia, Azerbaijan, Iran and Turkmenistan./dSfLi;u lkxj >hy ,f'k;k dh rFkk fo'o dh Hkh lcls cM+h >hy gSA
;g >hy dtkfdLrku] :l] vtjcStku] bZjku rFkk rqdZesfuLrku ns'kksa ls f?kjk gSA

34. (b)

35. (d)
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36. (c) Acetobacter aceti is used to produce vinegar from alcohol. Vinegar is formed when acetic acid reacts

with alcoholic beverages such as wine./vYdksgy ls fljdk ds fuekZ.k ds fy, ,lhVkscSDVj ,flVh dk iz;ksx fd;k tkrk gSA
tc vYdksgfyd is;ksa tSls 'kjkc ij ,flfVd ,flM fØ;k djrk gS rks  fljdk dk fuekZ.k gksrk gSA

37. (d) It involves the breeding and management of silkworms for silk production./blesa js'ke ds mRiknu ds fy,
js'ke ds dhVksa dk iztuu ,oa izca/u 'kkfey gSA

38. (b) Spinach is a flowering plant of the Amaranthaceae family. Mineral salts and vitamins are sufficient in

it. Iron is found more in spinach leaves./ikyd vejUFkslh dqy dk iwQyus okyk ikni gSA blesa [kfut yo.k rFkk foVkfeu
i;kZIr jgrs gSaA ikyd ds iÙks esa vk;ju vf/d ik;s tkrs gSaA

39. (c)

40. (b) A Gamocha is cultural symbol of 'Assam', that represents the state's culture and identify. It is mainly

a white rectangular piece of cloth traditionally made from pat silk./xekspk ^vle* dk lkaLÑfrd çrhd gS] tks jkT; dh
laLÑfr vkSj igpku dk çfrfuf/Ro djrk gS;g eq[; :i ls diM+s dk ,d lisQn vk;rkdkj VqdM+k gksrk gS tks ikjaifjd :i ls iSV flYd
ls cuk;k tkrk gSA

41. (d)

42. (a)

43. (a)The National Sports Festival for Women was started in 1975 when the festival was started to celebrate

the International Women's Year. This festival is organized every year to raise awareness of sports

among women in the country./efgykvksa ds fy, jk"Vªh; [ksy egksRlo o"kZ 1975 esa vkjaHk fd;s x;s FksA tc varjkZ"Vªh; efgyk
o"kZ eukus ds :i esa ;g egksRlo vkjaHk fd;k x;k FkkA ns'k esa efgykvksa dks [ksy ds izfr tkx:drk ds fy, ;g egksRlo izR;sd o"kZ vk;ksftr
fd;k tkrk gSA

44. (d)    45. (c)      46. (b)

47. (d)    48. (d)      49. (b)

50. (c) 5 new districts are being created in Ladakh, with this addition there will be a total of seven districts.

Till now there were two districts, Leh and Kargil.

The names of the new districts will be Jaskar, Drass, Sham, Nubra and Changthang./yík[k esa  5 u,
ftys cuk;s tk jgs gSa] bls tksM+dj vc ogk¡ dqy lkr ftys gks tk,axsA vc rd ogka nks ftys] ysg vkSj dkjfxy FksA

u;s ftyksa ds uke tkLdj] nzkl] 'kke] uqczk vkSj pkaxFkkax gksaxsA

C - QUANTITATIVE APTITUDE

51. (c) Numbers between 200 and 900 which is divisible by 4 and 6 is the numbers which is the LCM of 4
and 6 i.e. 12

So,  1st Number is 204

L.C.M Number is 888

By using A.P.

Last them = a + (n – 1) d

888 = 204 + (n –1)12

74 = 17 + n–1

n = 58

Total 58 numbers are divisible by  between 200 and 900.

52. (d) d
1
 = 14 cm

d
2
 = 48 cm

We know that,

 2 2 2
1 2d d 4a a side of Rhombus   

196 + 2304 = 4a2

a = 25

Perimeter of Rhombus = 4a

= 4 × 25
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= 100

53. (a)
 

  

sin59 cos31 cos59 sin31

cos20 cos25 sin20 sin25

   

   

We know that,

 sin 90 cos   

 cos 90 sin   

cosAcosB – sinAsinB = cos(A + B)

 
sin59 sin59 cos59cos59

cos 20 25

 

 

   [  cos 31 cos 90 59 

= sin59]

2 2sin 59 cos 59

cos 45




2 21
  sin A cos A 1

1

2

    

2

54. (b) Number of Employees working in Marketing = 86.4º

Number of Employers working in IT = 72°

Required perentoge

=
86.4 72
  100

86 4

 




=
1
 
6

1 0 0

= 1667

55. (c)  P 7 4 3 

and PQ = 1

So, 
1

Q
P



1 7 4 3
 

7 4 3 7 4 3

 
   

  

Q 7 4 3 

2 2
2 2

2 2 2 2

1 1 p d
(7 4 3) (7 4 3)

p Q p Q


     

49 48 56 3 49 48 56 3     

=194
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56. (d) 
 1
25%

4
  and 

 1
10%

10


So, Ratio between Marked Price and Selling Price

M.P S.P

4 3

10 9
30

81040 : 27




So, M.P = 40 × 30 = Rs. 1200

57. (a)Let, side of both polygons are 2a and 3a respectively, Ratio of Interior Angles 9 : 10

2a 2
180

92a

3a 2 10
180

3a

 
  


 

  

2a 2 3

3a 2 5






 a = 4

Sides of Polygons are 8 and 12

58. (b)

EffeciencyTotal workA 10Days 6
60

B 12Days 5





Work Done by A and B in 3 Days,

(6+ 5 )× 3 = 33 unit ... (1)

Now, A alone work for 2 Days,

So, work done by A in 2 Days, 6 × 2 = 12 units

At last, A and C takes two more Days to finish the work

So, work done by A and C in 2 days

(6+C)×2 ... (iii)

Total work = 60 units

33 + 12 + (6+C)×2 = 60

 
3

C C is efficiency of 'C '
2

 

Time taken by C alone to complete the Work

60 2
40Days

3


 

59. (c) Total Interst He paid = Rs 364

900×4×T 1100×5×T
+ =364

100 100

36T + 55T = 364

91T = 364

T = 4 years

60. (a)L = 65 H



7SSC CGL 2024 | SET - 16KD PUBLICATION Contact us:- 9555108888, 9555208888

L + H = 1650

65H  + H = 1650

H = 25

L = 65 × 25

we know that,

Product of number = Product of L.C.M & H.C.F

125 × 2nd number =65 × 25 × 25

2nd Number = 325

61. (d)

2 2

2 2 2 2

(2023) (2023)
=

(2022) +(2024) -2 (2022) -1+(2024) -1

2(2023)
=

(2021)(2023)+(2023)(2025)

2 2a -b =(a+b)(a-b)]

1
=

2

62. (a)
D

S
35



Time taken in Downstream is  12 m less than in upstream.

D D
12

S C S C
 

 

Put, D = 35S

 
 

35S 35S
12

S C S C

2 2

SC 6

35S C
 



2

2

S
6C

35S
1

C





Put 
S

t
C



2

t 6

35t 1




 t = 6

So, 
S

6
C



S 6C 



8SSC CGL 2024 | SET - 16KD PUBLICATION Contact us:- 9555108888, 9555208888

Required time 
D

S C




35S

6C C




35 6C

7C



= 30 mins

63. () Let, Average of 8 persons = x

Increased Average of 8 persons = x + 2.5

So, Total Increase in weight = 2.5 × 8 = 20

So, weight of new Man = 56 + 20 = 76 kg

64. (b) List, fourth proportional is D.

So, 
189 153

273 D


D = 221

65. (c)

 
3

2

A B

3 : 5

10 : 13





 
  

9 : 15
11 22 years

20 : 26






1 Unit  2 Years

Present age of A and B is 18 and 30 years respectively. Required Ratio = 13  : 25

66. (c) Total Surface Area

1
 Perimeters of Base

2

  Slant height + Area of Base

 



 
2

2 3
Slant thight t = h + a

2

 
  
 

h = hight 

a =side

 
 
 

2

2 3
l= (16) + ×8 3

2

 
 
 

l = 20

21 3
T×S×A= ×6×8 3×20+6× ×(8 3)

2 4

 =480 3+288 3
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2 =768 3 cm

67. (d)

2

7+8×8÷8 of 8+8÷8×4 of 4

4÷4 of 4+4×4÷4-4÷ ×of4

1 8
7 8 8 4 4

8 8 8
1 4 1

4 4 4
4 4 4 4 2

     


    
 

7 1 16

1 1
4

4 2

 


 

96
6.4

15
 

68. (c) 63 C.P – 63 S.P = 9.5 P

63 C. P  = 72 S.P

C.P 8

S.P 7


Loss % 
1

100 12.5%
8

  

69. (c)

C D

A B

E

F

III

Only three tangents are possible.

70. (c) sin ( 630º + A) + cosA

 sin [720º – (90º – A)]+ cos A

 – sin ( 90º – A) + cos A

thIn 4 duadrant

sin is Negative

 
 
 



 – cos A + cos A

 0

71. (a)
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1
5
 c

m

4 cm
4
 c

m

40 cm

4 
cm

7 cm

30 cm

Length of cuboid =40 – 4 – 4 = 32 cm

Breadth of cuboid =15 – 4 – 4 = 7 cm

Height of cuboid = 4 cm

Volume of cuboid = 4 × 7 × 32  = 896 cm3

72. (a)
 1
2 6

2
 x
x

Dividing 2 on both sides

 1
3

4
 x
x

Squaring both sides

2

2

1 1
9

16 2
  x

x

2

2

1 19

16 2
 x

x

73. (a)We know that,

x4 + y4 + x2y2 = (x2 + y2 – xy) (x2 + y2 + xy)

(x2 + y2 – 12) (x2  + y2 + 12) = 481

(x2 + y2)2 – 144 = 481

 x2 + y2 = 25

 x2 + y2 – xy = 25 – 12 = 13

74. (d)

I

O

  5 hrs

  36 hrs
180 Hrs

36

5

Total
work

Efficiency

Here, Efficiency of Inlet pipe is 7.2 times the efficiency of outlet pipe.

So, we required Additional 7 pipes.

75. (d) If 335 + 5A7 = 8B2

If, 8B2 is divisible by 3 then B will be 2,  5 (or) 8.

If, B = 2 then, A  822 – 335 =5A7

487 = 5A7 (Not Possible)

If B = 5 then, A  5A7 = 852 – 335 = 517
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A = 1

If, B = 8 then A  5A7 = 882 – 335 = 547

A = 4

So, largest possible value of A is 4 .

D-ENGLISH COMPREHENSION

76.  (c) To pop the question means to ask  someone to  marry you (fdlh dks fookg ds fy, çLrko nsuk.

77. (a) Carnival (egksRlo) refers to a public festival or celebration, often involving parades, entertainment,

and festivities. Similarly, Fest (mRlo) means a festival or a celebration.

Funeral (vaR;sf"V) is a ceremony for someone who has died

Sedate ('kkar)means calm, dignified, and unhurried

78. (a) The incorrectly spelt word is excrusions.

The correct spelling is excursions (vodk'k ;k=kk), which refers to short trips or outings, especially for

pleasure.

Correctly spelt are:

Habitats (vkokl) refers to the natural home or environment of an animal, plant, or other organisms

Several (dbZ) means more than two but not many

Tribal (tutkrh;) relates to a tribe or tribes

79. (c)  Facade (vkMacj) refers to a deceptive outward appearance or a superficial front that hides the true nature of

something. On the other hand, Truth (lR;) means the actual state of affairs or reality, representing

honesty and factual accuracy.

Opening ([kqyuk) refers to a gap or entry point

Hidden (fNik gqvk) means concealed or not visible

Closure (lekiu) signifies the act of closing or completing something

80. (b) " The subject "Conspiracy theories" is plural, so the verb should also be plural. The correct form is
"thrive."

Therefore, the sentence should be: "Conspiracy theories thrive on distrust of the government."

81. (c)  Invalidate (voS/ djuk) means to make something invalid or null, which is the opposite of confirming

or supporting its truth or effectiveness. While, Vouch (lR;kfir djuk) means to assert or confirm that

something is true, often based on personal experience or knowledge.

Maintain (cuk, j[kuk) means to keep something in a certain state or condition

Certify (izekf.kr djuk) means to officially recognize or confirm something

Witness (xokg) refers to seeing or experiencing an event

82. (b)  flung

As  the sentence is in the past tense. Therefore, it is necessary for the verb used to fill in the blank

to also be in the past tense to maintain consistency. Here, Flung (iQsadk) is the past tense of "fling,"

which means to throw something with force, indicating that the action has already taken place.

83. (d) Active Voice Structure: Let + Subject + Base Form of Verb (V1) + Object + (Complement)?

Let + me + buy + an expensive bag + for my friend?

Passive Voice Structure: Let + Object + be + Past Participle (V3) + by + Subject?

        Let + an expensive bag + be bought + by me + for my friend?

84. (3)    Screech (fpYykuk) refers to a loud, high-pitched noise or cry, which perfectly captures the sound

made by tires when they suddenly stop or skid on a road.
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Beseech (fourh djuk) means to urgently and fervently ask someone for something

Creche (Øsp) refers to a place where infants and young children are cared for during the day

Bleach (Cyhp) is a chemical used for whitening or disinfecting

85. (b)    Protagonist (uk;d) refers to the main character or leading figure in a story, drama, or literary work.

Antagonist (fojks/h) refers to a character or force that opposes the protagonist, creating conflict in the

story.

Leader (usrk) generally refers to a person who leads or commands a group, organization, or country

86.  (a)Smell Blood ([kwu dh xa/ ysuk) means to sense a weakness in your opponent, often indicating that one feels

an opportunity to take advantage of them or defeat them.

87. (c)  Use the preposition "at" to indicate skill or ability in a particular activity.

88.  (4) "Glib" refers to speaking in a smooth, easy manner that can sometimes imply a lack of sincerity or

depth. Similarly, "Eloquent" (izHkko'kkyh) means having the ability to express ideas and feelings clearly

and effectively, it suggests that the speech was not only well-spoken but also powerful and capable of
engaging the audience's emotions.

elaborate (foLr`r) -means to explain something

effulgent (mTToy) -means shining brightly

89. (d) by 5 a.m. on that day use the preposition "by" to indicate a deadline or a point in time before which
something is completed.

90. (a) pseudonym

The correct spelling is pseudonym (NÁuke), which refers to a fictitious name used by someone,

typically an author.

Serial (Øfed) refers to something happening in a series or sequence and is spelled correctly.

Century (lnh) refers to a period of 100 years and is spelled correctly.

Notorious (dq[;kr) means famous for something bad, and it is also spelled correctly.

91. (d) Am I known to her?

Active Voice Structure: Does + Subject (she) + Base Form of Verb (know) + Object (me)?

Passive Voice Structure: Am/Is/Are + Object (I) + Past Participle (known) + to + Subject (her)?

92.  (d)  "circumstantial" (la;ksxtU;)  means relating to or consisting of circumstances, here it implies that

the details are related to the situation and events surrounding the plans. Similarly, "coincidental"

(l;ksxo'k)  suggests that the details are related to the circumstances of the plans.

Certain (fuf'pr) means something that is sure or definite.

Direct (izR;{k) refers to something straightforward or immediate, without involving intermediaries.

Credible (fo'oluh;) means something that is trustworthy or believable.

93. (d) figure out

"can't" is a modal verb. Modal verbs (such as can, could, may, must) are always followed by the base
form of the main verb.

94. (c) We are used to being.

"used to" is followed by a gerund (the -ing form of a verb) indicates that something has become
familiar or habitual.

We are used to being (ge gksus ds fy, vknh gSa) means that it is a habit or a familiar situation for us to be

happy together every day.

95. (a) Had a ball (cgqr vPNk le; fcrk;k) is an idiomatic expression meaning to have a lot of fun or to enjoy

oneself immensely
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Cut corners: means to do something in a way that saves time or money but may compromise quality

In the dark : means to be uninformed or unaware about something

Beat around the bush : means to avoid talking about the main issue or to speak indirectly

Comprehension:

Directions (21 - 25)

In the given passage, four options are given for each blank. Select the most appropriate option to
complete the given passage, which also fits contextually as per the word given in the bracket.

Healthy eating is a key component of a (1.complete)____ lifestyle. It's essential to maintain a balanced
diet that includes a variety of fruits and vegetables, lean proteins, and whole grains. Such a diet not
only provides the necessary nutrients for (2. ideal)____growth and overall well-being but also reduces
the risk of (3. chronic) ____conditions such as heart disease and diabetes. In addition to a nutritious
diet, regular physical activity is (4. essential)____for maintaining good health. Staying (5.
healthy)____and active can enhance both physical and mental well-being.

96. (b) "Wholesome" (larks"ktud) means promoting health and well-being, which fits with the context of a

healthy lifestyle.

active (xfr'khy): Engaging in physical activities.

monotonous (,djl): Lacking in variety; dull.

sedentary (fuf"Ø;): Involving a lot of sitting; not physically active.

97. (c) "Optimal"(b"Vre) means the best or most effective, which is appropriate when discussing growth and

well-being.

adequate (i;kZIr): Enough; sufficient.

robust (etcwr): Strong and healthy.

special (fo'ks"k): Better, greater, or otherwise

98. (a) "Infectious" (laØked) refers to diseases that can be transmitted, fitting the context of reducing the

risk of diseases like heart disease and diabetes.

lifestyle (thou'kSyh): The way in which a person lives.

indemnified (eqvkotk fn;k): Compensated for loss or damage.

99. (4) "Vital" (egRoiw.kZ) means essential or necessary for life, making it suitable for describing regular

physical activity for good health.

innocuous (gkfujfgr): Not harmful or offensive.

colloquial (LFkkuh;): Used in ordinary or familiar conversation.

100. (c)"Fit" means being in good health and physically strong, which aligns with the idea of staying healthy
and active.

shape (vkdkj) : The external form or appearance of someone.

pertinent (izklafxd): Relevant or applicable to a particular matter.

competent (;ksX;): Having the necessary ability or skills.


